

UNIVERSITY OF GHANA LOGISTICS DIRECTORATE

P. O. BOX LG 25, LEGON, ACCRA. TEL: 233-302-501380

Email: doloffice@ug.edu.gh

11TH MAY, 2022

AWARD NOTIFICATION
AWARD No.UG/WAGMC/ACE/GDS/PQ/004-4/2022

THE MANAGING DIRECTOR LABMART LIMITED P.O.BOX TL 1535 TAMALE NR

Consignee and Notification

UNIVERSITY OF GHANA (WAGMC PROJECT SXO1) LEGON P.O BOX LG 25 LEGON, ACCRA

Dear Sir/Madam

AWARD NOTIFICATION: No. UG/WAGMC/ACE/PQ/GDS/004-4/2022

We are pleased to inform you that the University of Ghana has decided to award your company a contract for the supply of the underlisted items. This award is based on our tender for supply of Research Consumables and your Response.

The detail of the award is as follows:

BENEFICIARY: WAGMC PROJECT SX01

LOT NO	DESCRIPTION OF ITEMS	QTY	UNIT PRICE GHS (¢)	TOTAL GHS (¢)
1A	THEMO SCIENTIFIC APPLIED BIOSYSTEMS™ TaqMan Advanced miRNA Assay,250 Reaction Assay Name: has-miR-4725-5P	1	6,125.98	6,125.98
1B	ZYMO RESEARCH™ Quick – DNA Minprep Plus Kit (50 preps)	1	4,785.95	4,785.95
1C	ZYMO RESEARCH™ Quick – RNA Minprep Plus Kit (50 preps)	1	8,522.04	8,522.04
1D	NEB LUNA® Universal aPCR Master Mix, 2x (200 Reactions	1	4,124.87	4,124.87

July 1

	NEB PROTOSCRIPT®	1	2,245.89	2,245.89
1E	II Reverse Transcriptase (4,000 Units)			
1F	THEMO SCIENTIFIC ™ RESTRICTION ENZYME Hin1ll (5U/μL) 300 Reactions	1	1,685.00	1,685.00
1G	Alt-R® CRISPR-Cas9 tracrRNA Alt-R® CRISPR-Cas9 tracrRNA, 5 nmol	2	3,500.00	7,000.00
1H	Alt-R® CRISPR-Cas9 crRNA Alt-R® CRISPR-Cas9 crRNA, 2 nmol Sequence: AGGCATACCCAGGAATGACC	1	3,500.00	3,500.00
1I	Alt-R® CRISPR-Cas9 crRNA Alt-R® CRISPR-Cas9 crRNA, 2 nmol Sequence: CCTCACCTGGAGAGTGTTCA	1	3,500.00	3,500.00
1J	Alt-R® CRISPR-Cas9 crRNA for knockout Alt-R® CRISPR-Cas9 crRNA, 2 nmol Sequence: CTTTCCATGGGCTGTGGGGA	1	3,500.00	3,500.00
	SUB TOTAL	44,990.03		
	4% VAT/NHIL-COVID I		1,349.71	
	TOTAL		(History and &	46,789.64

The calculated cost for this award is **DDP**: **GH**(46,789.64 (Forty-Six Thousand, Seven Hundred and Eighty-Nine Ghana Cedis and Sixty-Four Pesewas Only).

Sampson Owusu-Afriyie
Director of Logistics

NOTES:

1. **Delivery:** The delivery Validity is Four (4) weeks. You are therefore expected to deliver the item(s) before or 8^{th} of **June**, 2022. If the delivery is not affected by the said date the contract may be deemed to be been cancelled and the contact will be re-awarded to the next evaluated bidder.

The goods would have to be delivered to the University of Ghana Stores, PDMSD on a working day within the hours of 8: 30a.m and 4: 00p.m. The University of Ghana has the right to reject the goods if the goods are not delivered within the stipulated days and time.

- 2. Payment Terms: Within $\bf 30$ days after full delivery and submission of your invoice(s) and waybill(s).
- 3. You will be expected to pre-finance the contract.
- 4. The Bulk of the goods when delivered must correspond with the required specification. The University has the right to reject the goods if the bulk of the goods does not correspond with the specification.
- 5. An inspection team consisting of Stores, Internal Audit and Project Team from the University of Ghana will inspect the goods when delivered and it is upon their acceptance of the goods that you will be paid.
- 6. In the course of using the items, if we identify that the quality of the items is not suitable for its intended purpose, you will be called to withdraw the items and replace them with good quality ones.
- 7. The prices agreed shall not be varied to the disadvantage of the University of Ghana.
- 8. You are to acknowledge your acceptance or otherwise of the terms and conditions of the award latest within five days after receipt of the award letter for the signing of the contract.
- 9. Acceptance letter should be addressed to Director of Logistics.





UNIVERSITY OF GHANA LOGISTICS DIRECTORATE

P. O. BOX LG 25, LEGON, ACCRA. TEL: 233-302-501380

Email: doloffice@ug.edu.gh

6TH APRIL, 2022

AWARD NOTIFICATIONAWARD No.UG/WAGMC/ACE/GDS/PQ/004-1A/2022

THE MANAGING DIRECTOR LABMART LIMITED P.O.BOX TL 1535 TAMALE NR

Consignee and Notification

UNIVERSITY OF GHANA (WAGMC PROJECT SXO1) LEGON P.O BOX LG 25 LEGON, ACCRA

Dear Sir/Madam

AWARD NOTIFICATION: No. UG/WAGMC/ACE/PQ/GDS/004-1A/2022

We are pleased to inform you that the University of Ghana has decided to award your company a contract for the supply of the underlisted items. This award is based on our tender for supply of Research Consumables and your Response.

The detail of the award is as follows:

BENEFICIARY: WAGMC PROJECT SX01

LOT NO	DESCRIPTION OF ITEMS	QTY	UNIT PRICE GHS (¢)	TOTAL GHS (¢)
1A	ZYMO RESEARCH Quick RNA Viral™ Kit withZymo-Spin™ Capped (200preps/kit)	2	6,850.00	13,700.00
1B	QIAGEN QIAAMP DNA MINI-KIT For 250preps/kit250 QIAamp Mini Spin Columns, QIAGEN Proteinase K,Reagents, Buffers, Collection Tubes (2mil)	1	14,850.00	14,850.00
1C	ONETAQ® QUICK-LOAD 2X Master Mix with Standard Buffer - $100 \text{ rxns} (50 \mu\text{L})$	4	1,450.00	5,800.00

	4% VAT/NHIL-COVID LEVY			2,684.26
	SUB TOTAL			67,106.50
10	BIOLOGIX 0.2ML PCR TUBES Sterile, Flat caps, clear 1000/pk	2	450.00	900.00
1G	THEMO SCIENTIFIC ™ INVITROGEN DNA polymerase I Large (Klenow) Fragment 500 units	1	8,500.00	8,500.00
1F	NEW ENGLAND BIOLABS Random Primer 6,1 A260 Units Sequence: 5'd(N6) 3' [N=A, C, G, T]	3	1,885.50	5,656.50
ID IE	PROTOSCRIPT® II First Strand c DNA Synthesis Kit 150 Reactions	2	8,850.00	17,700.00

The calculated cost for this award is DDP: GH¢69,790.76 (Sixty-Nine Thousand, Seven Hundred and Ninety Ghana Cedis and Seventy-Six Pesewas Only).

Prof. Nana Aba Appiah Amfo

Vice-Chancellor

NOTES:

1. **Delivery:** The delivery Validity is Four (4) weeks. You are therefore expected to deliver the item(s) before or $\mathbf{4}^{th}$ of \mathbf{May} , 2022. If the delivery is not affected by the said date the contract may be deemed to be been cancelled and the contact will be re-awarded to the next evaluated bidder.

The goods would have to be delivered to the University of Ghana Stores, PDMSD on a working day within the hours of 8: 30a.m and 4: 00p.m. The University of Ghana has the right to reject the goods if the goods are not delivered within the stipulated days and time.

- 2. Payment Terms: Within $30\ days$ after full delivery and submission of your invoice(s) and waybill(s).
- 3. You will be expected to pre-finance the contract.

- 4. The Bulk of the goods when delivered must correspond with the required specification. The University has the right to reject the goods if the bulk of the goods does not correspond with the specification.
- 5. An inspection team consisting of Stores, Internal Audit and Project Team from the University of Ghana will inspect the goods when delivered and it is upon their acceptance of the goods that you will be paid.
- 6. In the course of using the items, if we identify that the quality of the items is not suitable for its intended purpose, you will be called to withdraw the items and replace them with good quality ones.
- $7. \ The \ prices \ agreed \ shall \ not \ be \ varied \ to \ the \ disadvantage \ of \ the \ University \ of \ Ghana.$
- 8. You are to acknowledge your acceptance or otherwise of the terms and conditions of the award latest within five days after receipt of the award letter for the signing of the contract.
- 9. Acceptance letter should be addressed to Director of Logistics.



UNIVERSITY OF GHANA LOGISTICS DIRECTORATE

P. O. BOX LG 25, LEGON, ACCRA. TEL: 233-302-501380

Email: doloffice@ug.edu.gh

6TH APRIL, 2022

AWARD NOTIFICATIONAWARD No.UG/WAGMC/ACE/GDS/PQ/004-1B/2022

THE MANAGING DIRECTOR LABMART LIMITED P.O.BOX TL 1535 TAMALE NR

Consignee and Notification

UNIVERSITY OF GHANA (WAGMC PROJECT SXO1) LEGON P.O BOX LG 25 LEGON, ACCRA

Dear Sir/Madam

AWARD NOTIFICATION: No. UG/WAGMC/ACE/PQ/GDS/004-1B/2022

We are pleased to inform you that the University of Ghana has decided to award your company a contract for the supply of the underlisted items. This award is based on our tender for supply of Research Consumables and your Response.

The detail of the award is as follows:

BENEFICIARY: WAGMC PROJECT SX01

LOT NO	DESCRIPTION OF ITEMS	QTY	UNIT PRICE GHS (¢)	TOTAL
2A	Powder Free Nitrile Examination Gloves for DNA work Large size	60	88.50	GHS (¢) 5,310.00
2B	Powder Free Nitrile Examination Gloves for DNA work Medium size	40	88.50	3,540.00
2C	BIOLOGIX 1.5ML EPPENDORF Centrifuge Tubes, Clear Sterile	40	185.00	7,400.00
2D	BIOLOGIX POLYPROPYLENE CRYOBOX 81-Wells, -90°C to 121°C Assorted Colours	20	350.00	7,000.00

Julysey

1

2E	CRYOKING 2MI CRYOGENIC VIALS Internal Thread, self-standing, Polypropylene, White Cap	8	2,999.89	23,999.12
	SUB TOTAL			47,249.12
	4% VAT/NHIL-COVID	LEVY		1,889.96
	TOTAL			49,139.08

The calculated cost for this award is DDP: GH¢49,139.08 (Forty-Nine Thousand, One Hundred and Thirty-Nine Ghana Cedis and Eight Pesewas Only).

Sampson Owusu-Afriyie
Director of Logistics

NOTES:

1. **Delivery:** The delivery Validity is Four (4) weeks. You are therefore expected to deliver the item(s) before or $\mathbf{4}^{th}$ of \mathbf{May} , $\mathbf{2022}$. If the delivery is not affected by the said date the contract may be deemed to be been cancelled and the contact will be re-awarded to the next evaluated bidder.

The goods would have to be delivered to the University of Ghana Stores, PDMSD on a working day within the hours of 8: 30a.m and 4: 00p.m. The University of Ghana has the right to reject the goods if the goods are not delivered within the stipulated days and time.

- 2. Payment Terms: Within $\bf 30$ days after full delivery and submission of your invoice(s) and waybill(s).
- 3. You will be expected to pre-finance the contract.
- 4. The Bulk of the goods when delivered must correspond with the required specification. The University has the right to reject the goods if the bulk of the goods does not correspond with the specification.
- 5. An inspection team consisting of Stores, Internal Audit and Project Team from the University of Ghana will inspect the goods when delivered and it is upon their acceptance of the goods that you will be paid.

- 6. In the course of using the items, if we identify that the quality of the items is not suitable for its intended purpose, you will be called to withdraw the items and replace them with good quality ones.
- 7. The prices agreed shall not be varied to the disadvantage of the University of Ghana.
- 8. You are to acknowledge your acceptance or otherwise of the terms and conditions of the award latest within five days after receipt of the award letter for the signing of the contract.
- 9. Acceptance letter should be addressed to Director of Logistics.





UNIVERSITY OF GHANA LOGISTICS DIRECTORATE

P. O. BOX LG 25, LEGON, ACCRA. TEL: 233-302-501380

Email: doloffice@ug.edu.gh

6TH APRIL, 2022

AWARD NOTIFICATION

AWARD No.UG/WAGMC/ACE/GDS/PQ/004-1C/2022

THE MANAGING DIRECTOR LABMART LIMITED P.O.BOX TL 1535 TAMALE NR

Consignee and Notification

UNIVERSITY OF GHANA (WAGMC PROJECT SXO1) LEGON P.O BOX LG 25 LEGON, ACCRA

Dear Sir/Madam

AWARD NOTIFICATION: No. UG/WAGMC/ACE/PQ/GDS/004-1C/2022

We are pleased to inform you that the University of Ghana has decided to award your company a contract for the supply of the underlisted items. This award is based on our tender for supply of Research Consumables and your Response.

The detail of the award is as follows:

BENEFICIARY: WAGMC PROJECT SX01

LOT NO	DESCRIPTION OF ITEMS	QTY	UNIT PRICE GHS (¢)	TOTAL GHS (¢)
3A	BIOLOGIX 10μL FILTER TIPS Rack pack, Sterile, Low retention. Filter Diameter: 1.6Mm, Thickness:3.5Mm	10	745.70	7,457.00
3В	BIOLOGIX 100 μ L FILTER TIPS Rack pack, Sterile, Low retention. DNase & RNase free, pyrogen free	10	750.00	7,500.00
3C	BIOLOGIX 200μL FILTER TIPS Rack pack, Sterile, Low retention. Filter Diameter: 4.5Mm, Thickness: 3.5Mm	10	785.50	7,855.00

Pulsones !

3Н	BIOLOGIX 1000μL UNIVERSAL PIPETTE TIPS	5	145.00	725.00
3G	BIOLOGIX 200μL UNIVERSAL PIPETTE TIPS Non-Sterile, DNase & RNase Free, Yellow	10	125.00	1,250.00
3F	BIOLOGIX 100μL UNIVERSAL PIPETTE TIPS Non-Sterile, DNase & RNase Free, Yellow	10	125.00	1,250.00
3E	BIOLOGIX 10µL UNIVERSAL PIPETTE TIPS Non-Sterile, Clear	10	100.00	1,000.00
3D	Rack pack, Sterile, Low retention. Filter Diameter: 7.0Mm, Thickness: 4.2Mm	5	785.00	3,925.00

The calculated cost for this award is **DDP**: **GH**\$\mathbb{G}\$32,200.48 (**Thirty-Two Thousand, Two Hundred Ghana Cedis and Forty-Eight Pesewas Only**).

Sampson Owusu-Afriyie
Director of Logistics

NOTES:

1. **Delivery:** The delivery Validity is Four (4) weeks. You are therefore expected to deliver the item(s) before or $\mathbf{4}^{th}$ of **May**, **2022**. If the delivery is not affected by the said date the contract may be deemed to be been cancelled and the contact will be re-awarded to the next evaluated bidder.

The goods would have to be delivered to the University of Ghana Stores, PDMSD on a working day within the hours of 8: 30a.m and 4: 00p.m. The University of Ghana has the right to reject the goods if the goods are not delivered within the stipulated days and time.

- 2. Payment Terms: Within 30 days after full delivery and submission of your invoice(s) and waybill(s).
- 3. You will be expected to pre-finance the contract.
- 4. The Bulk of the goods when delivered must correspond with the required specification. The University has the right to reject the goods if the bulk of the goods does not correspond with the specification.
- 5. An inspection team consisting of Stores, Internal Audit and Project Team from the University of Ghana will inspect the goods when delivered and it is upon their acceptance of the goods that you will be paid.
- 6. In the course of using the items, if we identify that the quality of the items is not suitable for its intended purpose, you will be called to withdraw the items and replace them with good quality ones.
- 7. The prices agreed shall not be varied to the disadvantage of the University of Ghana.
- 8. You are to acknowledge your acceptance or otherwise of the terms and conditions of the award latest within five days after receipt of the award letter for the signing of the contract.
- 9. Acceptance letter should be addressed to Director of Logistics.





UNIVERSITY OF GHANA LOGISTICS DIRECTORATE

P. O. BOX LG 25, LEGON, ACCRA. TEL: 233-302-501380

Email: doloffice@ug.edu.gh 10th JUNE, 2022

AWARD NOTIFICATION AWARD No.UG/WAGMC/ACE/GDS/PQ/004-5D/2022

THE MANAGING DIRECTOR LABMART LIMITED P.O.BOX TL 1535 TAMALE NR

Consignee and Notification

UNIVERSITY OF GHANA (WAGMC PROJECT SXO1) LEGON P.O BOX LG 25 LEGON, ACCRA

Dear Sir/Madam

AWARD NOTIFICATION: No. UG/WAGMC/ACE/PQ/GDS/004-5D/2022

We are pleased to inform you that the University of Ghana has decided to award your company a contract for the supply of the underlisted items. This award is based on our tender for supply of Laboratory Consumables and your Response.

The detail of the award is as follows:

BENEFICIARY: WAGMC PROJECT SX01

LOT NO	DESCRIPTION OF ITEMS	QTY	UNIT PRICE GHS (¢)	TOTAL GHS (¢)
4A	BIOLOGIX 200μL FILTER TIPS Rack pack, Sterile, Low retention. Filter Diameter: 4.5Mm, Thickness: 3.5Mm	10	785.50	7,855.00
4B	BIOLOGIX 200µL FILTER TIPS Rack pack, Sterile, Low retention. Filter Diameter: 4.5Mm, Thickness: 3.5Mm	10	785.50	7,855.00
4C	BIOLOGIX 1000μL FILTER TIPS Rack pack, Sterile, Low retention. Filter Diameter: 7.0Mm, Thickness: 4.2Mm	5	785.50	3,925.00

Polized

	TOTAL			
	4% VAT/NHIL-COVID LEVY			23,845.40
	SUB TOTAL	785.40		
	Sterile, DNase & RNase Free, Blue			23,060.00
	PIPETTE TIPS	5	145.00	
4F	BIOLOGIX 100μL UNIVERSAL			725.00
	Sterile, DNase & RNase Free, Yellow			
	PIPETTE TIPS	10	135.00	1,33010
4E	BIOLOGIX 200µL UNIVERSAL	100		1,350.00
	Sterile, DNase & RNase Free, Yellow	10		
4D	BIOLOGIX 100μL UNIVERSAL PIPETTE TIPS	10	135.00	1,350.00

The calculated cost for this award is DDP: GHC 23,845.40 (Twenty-Three Thousand, Eight Hundred and Forty-Five Ghana Cedis and Forty Pesewas Only).

Sampson Owusu-Afriyie **Director of Logistics**

1. Delivery: The delivery Validity is Four (4) weeks. You are therefore expected to deliver the item(s) before or 8th of July ,2022. If the delivery is not affected by the said date the contract may be deemed to be been cancelled and the contact will be re-awarded to the next evaluated

The goods would have to be delivered to the University of Ghana Stores, PDMSD on a working day within the hours of 8: 30a.m and 4: 00p.m. The University of Ghana has the right to reject the goods if the goods are not delivered within the stipulated days and time.

- 2. Payment Terms: Within 30 days after full delivery and submission of your invoice(s) and waybill(s).
- 3. You will be expected to pre-finance the contract.
- 4. The Bulk of the goods when delivered must correspond with the required specification.

The University has the right to reject the goods if the bulk of the goods does not correspond with the specification with the specification.

- 5. An inspection team consisting of Stores, Internal Audit and Project Team from the University of Ghana will inspect the goods that of Ghana will inspect the goods when delivered and it is upon their acceptance of the goods that you will be paid you will be paid.
- 6. In the course of using the items, if we identify that the quality of the items is not suitable for its intended purpose that the quality of the items is not suitable for its intended purpose, you will be called to withdraw the items and replace them with good quality ones quality ones.
- 7. The prices agreed shall not be varied to the disadvantage of the University of Ghana.
- 8. You are to acknowledge your acceptance or otherwise of the terms and conditions of the award latest within a award latest within five days after receipt of the award letter for the signing of the contract.
- 9. Acceptance letter should be addressed to Director of Logistics.

Distribution



UNIVERSITY OF GHANA LOGISTICS DIRECTORATE

P. O. BOX LG 25, LEGON, ACCRA. TEL: 233-302-501380

Email: doloffice@ug.edu.gh 7th JUNE, 2022

AWARD NOTIFICATION AWARD No.UG/WAGMC/ACE/GDS/PQ/004-6B/2022

THE MANAGING DIRECTOR LABMART LIMITED P.O.BOX TL 1535 TAMALE NR

Consignee and Notification

UNIVERSITY OF GHANA (WAGMC PROJECT SX01) LEGON P.O BOX LG 25 LEGON, ACCRA

Dear Sir/Madam

AWARD NOTIFICATION: No. UG/WAGMC/ACE/PQ/GDS/004-6B/2022

We are pleased to inform you that the University of Ghana has decided to award your company a contract for the supply of the underlisted items. This award is based on our tender for supply of Research Consumables and your Response.

The detail of the award is as follows:

BENEFICIARY: WAGMC PROJECT SX01

LOT NO	DESCRIPTION OF ITEMS	QTY	UNIT PRICE GHS (¢)	TOTAL GHS (¢)
2A	BIOLOGIX 1000μL FILTER TIPS Rack pack, Sterile, Low retention. Filter Diameter: 7.0Mm, Thickness: 4.2Mm	8 (576/Bx)	785.00	6,280.00
2В	BIOLOGIX 200μL FILTER TIPS Rack pack, Sterile, Low retention. Filter Diameter: 4.5Mm, Thickness: 3.5Mm	10 (960/Bx)	785.00	7,855.00
2C	BIOLOGIX 20 μ L FILTER TIPS Rack pack, Sterile, Low retention. DNase & RNase free, pyrogen free	10 (960/Bx)	825.60	8,256.00

Culines

2D	BIOLOGIX 1.5ML EPPENDORF MICROCENTRIFUGE TUBE Sterile, Clear. DNase & RNase free,	10	220.00	2,200.00
	SUB TOTAL			983.64
	4% VAT/NHIL-COVI	D LEVY		25,574.64
	TOTAL			s susand, Five

The calculated cost for this award is DDP: GH¢ 25,574.64 (Twenty-Five Thousand, Five Hundred and Source Only). Hundred and Seventy-Four Ghana Cedis and Sixty-Four Pesewas Only).

Director of Logistics

NOTES:

1. **Delivery:** The delivery Validity is Four (4) weeks. You are therefore expected to deliver the item(s) before a Title of the contract item(s) before or 5th of July, 2022. If the delivery is not affected by the said date the contract may be deemed to be been cancelled and the contact will be re-awarded to the next evaluated hidden bidder.

The goods would have to be delivered to the University of Ghana Stores, PDMSD on a working day within the hours of 8: 30a.m and 4: 00p.m. The University of Ghana has the right to reject the goods if the goods are not delivered within the stipulated days and time.

- 2. Payment Terms: Within 30 days after full delivery and submission of your invoice(s) and waybill(s).
- 3. You will be expected to pre-finance the contract.
- 4. The Bulk of the goods when delivered must correspond with the required specification. The University has the right to reject the goods if the bulk of the goods does not correspond with the specification.
- 5. An inspection team consisting of Stores, Internal Audit and Project Team from the University of Ghana will inspect the goods when delivered and it is upon their acceptance of the goods that you will be paid.

- 6. In the course of using the items, if we identify that the quality of the items is not suitable for its intended purpose, you will be called to withdraw the items and replace them with good quality ones.
- 7. The prices agreed shall not be varied to the disadvantage of the University of Ghana.
- 8. You are to acknowledge your acceptance or otherwise of the terms and conditions of the award latest within five days after receipt of the award letter for the signing of the contract.
- 9. Acceptance letter should be addressed to Director of Logistics.





UNIVERSITY OF GHANA LOGISTICS DIRECTORATE

P. O. BOX LG 25, LEGON, ACCRA. TEL: 233-302-501380

Email: doloffice@ug.edu.gh 11th NOVEMBER, 2022

AWARD NOTIFICATIONAWARD No.UG/WAGMC/ACE/GDS/PQ/004-10C/2022

THE MANAGING DIRECTOR LABMART LIMITED P.O.BOX TL 1535 TAMALE NR

Consignee and Notification

UNIVERSITY OF GHANA (WAGMC PROJECT SXO1) LEGON P.O BOX LG 25 LEGON, ACCRA

Dear Sir/Madam

AWARD NOTIFICATION: No. UG/WAGMC/ACE/PQ/GDS/004-10C/2022

We are pleased to inform you that the University of Ghana has decided to award your company a contract for the supply of the underlisted items. This award is based on our tender for supply of Research Consumables and your Response.

The detail of the award is as follows:

BENEFICIARY: WAGMC PROJECT SX01

LOT NO	DESCRIPTION OF ITEMS	QTY	UNIT PRICE GHS (¢)	TOTAL GHS (¢)
3A	BIO-RAD 40% ACRYLAMIDE/BIS SOLUTION, 29:1 CAT NO; 1610147 12 X 500ML	1	11,884.37	11,884.37
3B	THERMO SCIENTIFIC ™ TEMED TETRAMETHYL ETHYLENEDIAMINE LIQUID TEMED 25ml FORMULA: C6H16N2	1	2,889.54	2,889.54

Ondrig

	TOTAL		Marian di	34,795.47
	12.5% VAT	3,866.17		
	6% GFUND/NHIL-COVID LEVY SUB TOTAL			30,929.30
				1,750.72
	SUB TOTAL	29,178.58		
3E	THERMO SCIENTIFIC ™INVITROGEN™ ULTRAPURE™ 1M TRIS – HCI BUFFER, Ph 7.5	1	3,250.24	3,250.24
3D	THERMO SCIENTIFIC ™INVITROGEN™ ULTRAPURE™ Sodium Dodecyl Sulfate (SDS) 500G FORMULA: CH3(CH2)	1	8,766.29	8,766.29
3C	THERMO SCIENTIFIC ™ AMMONIUM PERSULFATE, 4 X 25g FORMULA: (NH4)2S2O8	1	2,388.14	2,388.14

The calculated cost for this award is DDP: GH¢ 34,795.47 (Thirty-Four Thousand, Seven Hundred and Ninety-Five Ghana Cedis and Forty-Seven Pesewas Only).

Sampson Owusu-Afriyie Director of Logistics.

NOTES:

1. Delivery: The delivery Validity is Four (4) weeks. You are therefore expected to deliver the item(s) before or 7^{th} of **December ,2022**. If the delivery is not affected by the said date the contract may be deemed to be been cancelled and the contact will be re-awarded to the next

The goods would have to be delivered to the University of Ghana Stores, PDMSD on a working day within the hours of 8: 30a.m and 4: 00p.m. The University of Ghana has the right to reject the goods if the goods are not delivered within the stipulated days and time.

- 2. Payment Terms: Within $30 \ days$ after full delivery and submission of your invoice(s) and waybill(s).
- 3. You will be expected to pre-finance the contract.
- 4. The Bulk of the goods when delivered must correspond with the required specification. The University has the right to reject the goods if the bulk of the goods does not correspond with the specification.
- 5. An inspection team consisting of Stores, Internal Audit and Project Team from the University of Ghana will inspect the goods when delivered and it is upon their acceptance of the goods that you will be paid.
- 6. In the course of using the items, if we identify that the quality of the items is not suitable for its intended purpose, you will be called to withdraw the items and replace them with good quality ones.
- 7. The prices agreed shall not be varied to the disadvantage of the University of Ghana.
- 8. You are to acknowledge your acceptance or otherwise of the terms and conditions of the award latest within five days after receipt of the award letter for the signing of the contract.
- 9. Acceptance letter should be addressed to Director of Logistics.





UNIVERSITY OF GHANA LOGISTICS DIRECTORATE

P. O. BOX LG 25, LEGON, ACCRA. TEL: 233-302-501380

Email: doloffice@ug.edu.gh 11th NOVEMBER, 2022

AWARD NOTIFICATION
AWARD No.UG/WAGMC/ACE/GDS/PQ/004-10B/2022

THE MANAGING DIRECTOR LABMART LIMITED P.O.BOX TL 1535 TAMALE NR

Consignee and Notification

UNIVERSITY OF GHANA (WAGMC PROJECT SXO1) LEGON P.O BOX LG 25 LEGON, ACCRA

Dear Sir/Madam

AWARD NOTIFICATION: No. UG/WAGMC/ACE/PQ/GDS/004-10B/2022

We are pleased to inform you that the University of Ghana has decided to award your company a contract for the supply of the underlisted items. This award is based on our tender for supply of Research Consumables and your Response.

The detail of the award is as follows:

BENEFICIARY: WAGMC PROJECT SX01

LOT NO	DESCRIPTION OF ITEMS	QTY	UNIT PRICE GHS (¢)	TOTAL GHS (¢)
2A	APPLIED BIOSYSTEMS™ TAQMAN™ SNP GENOTYPING ASSAY, HUMAN 1000 REACTIONS SNP ID: GST1 rs 4671393 ASSAY ID: C_25926414_10 GENE NAME: B-CELL CLL/LYMPHOMA 11A	1	17,500.00	17,500.00
2B	APPLIED BIOSYSTEMS™ TAQMAN™ SNP GENOTYPING ASSAY, HUMAN 1000 REACTIONS SNP ID: GST1 rs 1427407	1	17,500.00	17,500.00



	ASSAY ID: C_8899456_10 GENE NAME: B-CELL CLL/LYMPHOMA 11A			
C	THERMO SCIENTIFIC ™ APPLIED BIOSYSTEMS™ MASTER MIX Tagman Genotyping	1	4,288.34	4,288.34
	(1ml) SUB TOTAL			39,288.34
	6% GFUND/NHIL-COVID LEVY SUB TOTAL 12.5% VAT TOTAL			2,357.30
				41,645.64
				5,205.71
				46,851.35

The calculated cost for this award is **DDP**: **GH**\$\psi\$ 46,851.35 (Forty-Six Thousand, Eight Hundred and Fifty-One Ghana Cedis and Thirty-Five Pesewas Only).

Sampson Owusu-Afriyie

Director of Logistics.

NOTES:

1. **Delivery:** The delivery Validity is Four (4) weeks. You are therefore expected to deliver the item(s) before or 7^{th} of **December ,2022**. If the delivery is not affected by the said date the contract may be deemed to be been cancelled and the contact will be re-awarded to the next evaluated bidder.

The goods would have to be delivered to the University of Ghana Stores, PDMSD on a working day within the hours of 8: 30a.m and 4: 00p.m. The University of Ghana has the right to reject the goods if the goods are not delivered within the stipulated days and time.

- 2. **Payment Terms:** Within **30 days** after full delivery and submission of your invoice(s) and waybill(s).
- 3. You will be expected to pre-finance the contract.
- 4. The Bulk of the goods when delivered must correspond with the required specification.

The University has the right to reject the goods if the bulk of the goods does not correspond with the specification.

- 5. An inspection team consisting of Stores, Internal Audit and Project Team from the University of Ghana will inspect the goods when delivered and it is upon their acceptance of the goods that you will be paid.
- 6. In the course of using the items, if we identify that the quality of the items is not suitable for its intended purpose, you will be called to withdraw the items and replace them with good quality ones.
- 7. The prices agreed shall not be varied to the disadvantage of the University of Ghana.
- 8. You are to acknowledge your acceptance or otherwise of the terms and conditions of the award latest within five days after receipt of the award letter for the signing of the contract.
- 9. Acceptance letter should be addressed to Director of Logistics.

Distribution



UNIVERSITY OF GHANA LOGISTICS DIRECTORATE

P. O. BOX LG 25, LEGON, ACCRA. TEL: 233-302-501380

Email: doloffice@ug.edu.gh 11th NOVEMBER, 2022

AWARD NOTIFICATION

AWARD No.UG/WAGMC/ACE/GDS/PQ/004-10D/2022

THE MANAGING DIRECTOR LABMART LIMITED P.O.BOX TL 1535 TAMALE NR

Consignee and Notification

UNIVERSITY OF GHANA (WAGMC PROJECT SXO1) LEGON P.O BOX LG 25 LEGON, ACCRA

Dear Sir/Madam

AWARD NOTIFICATION: No. UG/WAGMC/ACE/PQ/GDS/004-10D/2022

We are pleased to inform you that the University of Ghana has decided to award your company a contract for the supply of the underlisted items. This award is based on our tender for supply of Research Consumables and your Response.

The detail of the award is as follows:

BENEFICIARY: WAGMC PROJECT SX01

LOT NO	DESCRIPTION OF ITEMS	QTY	UNIT PRICE GHS (¢)	TOTAL GHS (¢)
4	THERMO FISHER SCIENTIFIC ™INVITROGEN™ QUBIT ™ dsDNA High Sensitivity (HS) Assay Kits (500 Assays) Emissions: 510/527 nm Quantitative Range 0.1 – 120ng	5	9,885.46	49,427.30
	SUB TOTAL			49,427.30
	4% GFUND/NHIL-COVID LEVY/ VAT TOTAL			1,977.09
				51,404.39

The calculated cost for this award is DDP: GH¢ 51,404.39 (Fifty-One Thousand, Four Hundred and Four Ghana Cedis and Thirty-Nine Pesewas Only).

Prof. Nana Aba Appiah Amfo

Vice-Chancellor

NOTES:

1. **Delivery:** The delivery Validity is Four (4) weeks. You are therefore expected to deliver the item(s) before or **7**th of **December**, **2022**. If the delivery is not affected by the said date the contract may be deemed to be been cancelled and the contact will be re-awarded to the next evaluated bidder.

The goods would have to be delivered to the University of Ghana Stores, PDMSD on a working day within the hours of 8: 30a.m and 4: 00p.m. The University of Ghana has the right to reject the goods if the goods are not delivered within the stipulated days and time.

- 2. Payment Terms: Within 30 days after full delivery and submission of your invoice(s) and waybill(s).
- 3. You will be expected to pre-finance the contract.
- 4. The Bulk of the goods when delivered must correspond with the required specification. The University has the right to reject the goods if the bulk of the goods does not correspond with the specification.
- 5. An inspection team consisting of Stores, Internal Audit and Project Team from the University of Ghana will inspect the goods when delivered and it is upon their acceptance of the goods that you will be paid.
- 6. In the course of using the items, if we identify that the quality of the items is not suitable for its intended purpose, you will be called to withdraw the items and replace them with good quality ones.
- 7. The prices agreed shall not be varied to the disadvantage of the University of Ghana.
- 8. You are to acknowledge your acceptance or otherwise of the terms and conditions of the award latest within five days after receipt of the award letter for the signing of the contract.

8

9. Acceptance letter should be addressed to Director of Logistics.

Distribution